GHSH LANGUAGE

m!wims (l-ﬁ} in the ol
: : -; ﬁg Q‘Hﬁﬁtiﬁnﬂ, aom& pﬂl’t‘ﬁ Of

m‘ 8 sentence hag an error.

.......
.. [ I

L-L'..' i =

,:_ mg hxs hfﬁ. (4}/ Nﬂ error (5}
4{31 ‘The fierce lion and (1)/ the
. slyfox became friend (2)/ and
5 . deecided to (3)/ hunt togeth-
 er. (4¥ No error (6)
3. Tim elwer dmmple who (1)/
knew the special verse (2)/
ad to showed hﬂ‘W he

_ers. (@) No error (6)

4 ‘When the bzan,n ‘had gone-

~down (1)/ to ! qe W&t.er hole

- to drink, (2)/ the jackal goes | er’ The people of the island were

 up to the lion (8) and starb_' '
ed speakmg to hxm {4)/ No

errﬂr ()=

5. The turtle wnuld have (1)/.'
~ loved to accompany (2)/ his
. friends, but (3)/ he ceuld not

-~ fly. (4)/ No error (5)

or the questions given below

5
Mo .' --|:=I-

ee ﬁven in bold to help you lo- |
o s them while answenng some

g & qu&stwns,

n: ca]led h1s three sons and
" end is near! I wish to

aentencaa have errors and
¢ are correct. Fin& out whu:h |

number of that part i5 the |
er. Ua mt&nce 13 f'ree f'mm_'

ms“{a)/ better than tha oth-

ﬂ ﬁﬁm words/phrases have |

2 once }wed-é-,n o]d man.

ree sons. One day, the
h { rying thezr own axes. At last, he

chanced upon an island where |
peeple knew nothing about axes.

: "',,‘r,i { thlngs that I htiwe v |
;- ‘8o, he began dlsplaymg his axe

?o“u He then ga?ve a |

tﬂ the second and a cat to the
| youngest. ‘These things may seem
worthless but everything de-
_pends on how sensibly you use
them', said the old man.

' died His sons decided to make
- their fortune using the gifts, they

| eldest son went wandering about

with his rooster. He crossed many
{ towns and cities until he reached
an island where people didn't
know how to divide their time,
‘Perhaps, this should be the right
place to use my rooster, he
thought. So he called out to the
people and said, ‘Look! Here is an
amazing creature; it has a ruby-
red crown upon its head like a
knight. It crows four times dur-
ing the night and when it crows
_for the last time, the sun soon ris-
| es. But, if it crows in broad day-
light, then be careful; there will
certainly be a change in weath-

amazed to see such a creature. ‘Is
this creature up for sale? they

| asked. ‘O yes! And the price is as
| many gold coins as a donkey can

_carry, he replied. ‘Oh that's just a
small price for such a precious and

| useful creature who will help in
D:rmhons (6-15) : Read the
llﬂwmg passage carefu]ly and

keeping track of time,’ they replied
and wﬂhng]y gave htm the gold
cmns

-~ When the eldest son came
home mth his wealth, the other
two were astonished. Now the sec-

‘with his axe. He crossed many
. farms where labuurers were car-

50 his eldest s0n, an axe

and started narratmg 11:5 uses.

in a few days, the old man |

received from their father So, the |

ond son went wandering about

‘aver been seen.,

- catch hold of’

People were amazed to see such ¢
& tool and agreed to buy it for a /
horse laden with a8 much gold &s
it could carry

third son's
turn to see what he gould get of
his cat. He went about wandering .
through many towns until e’
reached a place where mice had
ereated 8 menace and no eat had s
‘We are fed up of |
the mice, They are so many that
they dance upon our tables and :
benches and gnaw whatever they .
they complained.
The youngest son let his cat free !
for sometime. She began her :
chase and soon cleared some
houses. People were extremely
happy to see this. They begged
the king to buy the wonderful crea-
ture for their kingdom. The King
readily agreed and bought it for a
mule laden with gold. The young-
est son happily returned home.
Thus, the three sons made the
best out of their father's gifts and
lived in wealth and prosperity:

6. Which of the following can be
an appropriate title for the
story?

(1) Bring Out the Devil in
You

(2) The Rooster and its Crow

(8) The Mantra to be Suc-
cessful-Own a Cat or @
Reoster

(4) Make the Best of Wha
You Have

(5) The Scheming Father

7, Which of the following stats
ments is frue in the conﬁe:
of the story?

(1) The king was reluctanﬁ
purchase the cat f ;.3:.,-
youngest sqni“ i

Now 1t was the




i '_"’  from his rooster,

;' _ nnta in tru&

g

waning as  the

:ﬁme in meanmg
ord ‘BEGGED’ as

,' t son in becom-_

' '_..;-%i Ymmgnnt aon waa toon

af the ful]awmg cor- |
oct] %plains the meaning |
_:%he phrasa, ‘chaneed ’

R e il — e g p— [N TR

Eﬂ)i’ Iﬂihg fathﬁr hud se- f f
| (ﬂﬁy informed the eldest '_
- on about making mney- i

006 the fonwing hiich is |
nost nearly the oppnmta in]

wordf 1 8
H'I” a8 umd in tha sto- |

uin ely wished to

= EB (A): (B) (O), (D) and (E) in prgp. e
| er sequence to form a meanmgful - shoul 1- ,
| paragraph, then answer the gw s

-en questmns.; 25 e

| (B} In the splendid mlace

""- _-_-'--_'_"

.i _-r o
.‘-“.'- 1 -“""7"‘—“‘ a}i 'l' - il

12. Whieh ol’ the foilmng la ?,1 aﬂ ,"

£3} probably (4} b}mdiy
(B) eccentncaliy '

actenstws of the father
COMES across drstmcﬂy
thmugh the story?

. (1) He was aggresswe

(2} He was lonely

(3) He rarely became angry
 (4) He was wise '

(5) He was an animal lover

as the word ‘WORTHLESS’
as used in the story? |
- (1) barren (2) mgmﬁcant
(3) useless (4) abohshed
~ (6) adopted =
15, As mentioned n the stary,f |

sons because

(1) he didn’t {avant them to -'
fight in his absence.

gifts from him.

(3) those were the only glfts
he could afford at that

~ time.
~ (4) he was tmng to take re-
~ venge on them by giving
gifts whlch ‘were of no
use, ' '

as options

range the following five sentene-

 (A) Also, crﬁuched on en:h r side.
~ of the throne are i:wo or
-~ mous beasts known B.g

ardly Lion.

Emerald city, which 135:_;_;' :

13 Which of the fallawmg char- K

=

14 Which of the f‘ulluwmg is mostf
nearly the same in meaning |

the father gave gifts to hls-

| (2) they had demanded tliase* i

(5) Other than those gwen o

Directions (16-20) : Rea:r- il Ee e o

:} th& Land of Oz
Oﬂﬂ room, w h,c
s Ozma sits op

ﬁf gltstenng emeralds
tﬂ all the troubjes

_ A
(11 poa:tweiy (2} f:autmusiy e

- such bee are group 1
‘all the ';mpnrtant dignitaries

Enese frko beasts are Ozma's
chi _"'t'_‘_'*guarélans, but as every-
e lov ; ‘the beautlful P;m

disltg" :;@;ﬂCE in the great

|-l= N e

, "on‘e?f’iﬁwm.
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Vhich Df the following
shafﬁ‘lﬁ;hp the FIFTH (LA%T

;fw'?.? ‘?f the following
| be the THIRD sen-
,. - ___tEI' the rearrange-

nnnnnnn

Hunﬂ'l'}' Tiger and the | @s 0. J

0 ; the following
r 3 SECOND sen-



:ml‘*«‘ctmna (21-25) : In these
ﬂgytmns sentences with four
biﬂ_d words are given. One from
words given in the bold may
Either wrongly spelt or inap-
propriate in the context of the sen-
taﬂ___aa Find out the word which is
i,j_;_ngly spelt or inappropriate. If
any, that word will be your an-
SWer., If all words given in the bold
an&_correctly spelt and also appro-
priate in the context of the sen-
tence, then ‘All Correct’ is your
ﬂBﬁW&r
._1.'_4-_';'}-'1_;'he RBI governor is the
— newly appointed vice
-~ Chairman of the Bank for In-
~ ternational Settlements and
~ will ocuppy the post for three
- years.
| {1) governor (2) newly

: """(3) appointed
— {4) ocuppy (5) All correct
5‘_‘22. In his new book the author
- argues that firms should
o generate value for societ-
. e as well as shareholders.
(1) argues - (2) generate
- (@) value . (4) societie
'jig-- {5) All correct
{?23. You do not need to be a cus-
:Fff'5'_' - tomer of a specific bank in
~ orderto purchase a gifi card
-~ from that bank,
eh) need {2) custamer
) speczﬁc (4) purchase
ot {5) All currect .
% 24 To deal with the gnevanc&s

. oftax payers the depar

| w:tTl set up looale ﬂomlmt-. _

(3}.&__ tt&es_ .

(4) reg;mn

(5) A-n cm:mct

Directmna (26-30) : In the
following passage, there are
blanks, each of which has been
numbered. These numbers are
printed below the passage and
against each, five words are sug-
gested, one of which fits the blank
appropriately. Find out the appro-
priate word in each case.

The two fish, named Multiwit
and Centiwit lived in a lake with a
frog named Uniwit. One evening,
as they were sitting by the lake,
two fishermen (26) by, planning to
come fishing at the lake in the next
morning. After (27) the fisherman
talk, the frog advised that they
should leayve the lake (28). Multi-
wit laughed and said, ‘Don’t be
frightened Uniwit. Our many wits
say (29) will happen tomorrow.’
Frog, inclined to his instincts and
(30) the lake that night. The next
morning, fishermen caught Multi-
wit and Centiwit in their nets. And
so it is better to pay heed.

26. (1) walking (2) swimming
(3) went (4) travel

(6) past
27. (1) Listening (2) Hearing

(3) Eavesdropping

(4) Afterwards

(6) Knowing
28. (1) just (2) closely

(3) lately (4) directly

(6) immediately

29. (1) nothing (2) this
(3) which (4) nobody
(8) harm

30, (1) away (2) vanished
(3) left (4) hid

.{5) disappeared

NUMERICALABILITY |

32.

33.

34.

31. Ram invested a certain sum

in Scheme A, which offers
simple interest at the rate of
12% p.a. for 3 years. He also
invested Rs. 6,000 in Scheme
B, which offers compound in-
terest (compounded annual-
ly) at the rate of 10% p.a. for
2 years. If the interest earned

2
from Scheme A 1s = th of the

interest from Scheme B, what
is the sum invested 1in
Scheme A?

(1) Rs. 10000 (2) Rs. 12500

(3) Rs. 85000 (4) Rs. 13500
(6) None of these

The sum of two positive num-
bers is 1840. If 40% of the
first number is equal to 756%
of the second number, what
is the larger number among
the two?

(1) 1400 (2) 1240

(3} 15660 (4) 1420

(5) 1200

2 .

Erd of a number is four

1
more than A th of another

number. If the sum of the two
numbers is 17, what is their
product?

(1) 72 (2) 64

(3) 48 (4) 63

(5) 92

Five years ago, the average

of Rimi’s age that time and
Ruhi's age that time was 12
years. Three years from now,
if the respective ratio be-

tween Rimi's age and Ruhi's
age that time will be 5 : 3,

what is Rimi’s present age‘?
(1) 17 years
(3) 27 years
(8) 22 years

(2) 38 yea:rs
(4) 19 yearsf .




35. In what respectwe ratm ]

.-.402 3. 7 99

- wheat of variety A worth”:“'

;_2_38 25 per kg must be mixed |

~ withwheatof: vanety Bworth |-
e Rs 18 per kg so that the new
. mixture (of both the varieties
e “Aand B) is wurth R.a 20 per -

kot [,

C o g

. me - @ss 5
 ®38:4 @4 3
HA = U None uf these

T _upstream in 42 minutes. If
the speed af the water cur-

rent 13 *-th of the speed of

Sk the boat in still water, how
E ~_ much dmtance (111 km) the
: boat can travel downstream
in 48 mmutes?
- | (1) 148 (2) 156
e ";é_i;.;(_3) 168 (@) 17 4
- j_;__.?.::"ff'(.‘.'r} None of these | i
"';:;fl‘ila,va&n spends 55% of his
~monthly salary on rent, EMI
:f?and miscellaneous expenses
_in the respective ratio of
3:4:4.Ifhe spends a total
;,,,,,__fRS 20,055 on the rent and
_EMI together, how much is
o ]ua monthly salary'? _
4= (1) Re'50300

(2}?9 49,600

~ (3) Rs. 46,750
e (&Rs 57,300
_(5) Rs. 56,300

Jq_ ?33- 'm'lﬁre are nine p-OSlthE obser-
£l vat:luns Average of the first
Sy ﬂle Iast fuur obaervahons is
'--'.;l"*""f'_'f‘*--_._' 717 If the average of these
e f»ﬁﬂmw mnunbsewatmns is 13, what
_ i s the slxth obsewatmn'?

Vo :‘: i w e @ g

Jf‘“ G {4) 19
’*’ %:eg»} e ik

mllmme in plaﬁe of the question

i 16 ? 8 12
@) 10

24 60

36_, A boat can travel 10.5 km

88 ?
(1) 215 (2) 446
(3) 268 (4) 312
(5) 584
41. 200 208 192 224 ? 288
(1) 160 - {2) 196
(3) 145 (4) 154
(5) 184
42. 188 92 44 20 8 2?2
(o2 (2) 0.5
(3) 2 (4) 4
(5) 04 T
43. 19 36 70 121 ? 9274
(1) 202 (2) 169
- (3) 189 (4) 194
() 171
44, The selling price of 16 chairs
1s equal to the selling price
of 6 tables. If the total selling

price of & chairs and 3 tables
together is Rs, 780, what is
the total selling price of 2
chairs and 1 table together?
(1) Rs. 920  (2) Rs. 960

{3) Rs. 980 (4) Rs. 1.060
(5) Rs. 288

. Two trains started running

from the same point at the
same time 1n opposite direc
tions (one towards North and
other towards South). The
speed of the two trains is 16
m/s and 14 m/s respectively
How much time will they take
to be 378 km apart? (in
hours)

(1) 2 hours: (2) 3 hours
(3) 4 hours (4) 3.5 hours
(6) 5 hours

Directions (46-50) : Study the table and answer the given ques-

tions.
Number of members in 5 health clubs during 5
given years :
- Year — 2009 2010 2011 2012 2013
Health Club {
A 198 138 142 142 187
B 207 125 1564 165 190
C 158 163 128 181 165
D 141 147 135 112 141
E 171 140 181 196 167

tinns (39-43} What |

| 'k (?) in the fallowmg numbel‘ |

(3) (192 |

46

47.

What is the respective ratio
between total number of
members in health club C in
2009 and 2011 together and
that in health club E in the
same years together?

(1) 13:16 (2) 11:16

(3) 9:16 (4) 13: 18

(56) 11 : 18

If 62% of the total number of

members in health clubs C,
D and E together in 2010 are
males, what is the total num-
ber of male members in

. health clubs C, D and E to-
© gether in 20107

(2) 280

: ____;;(1J 283
(3) 237 (4) 271
(5) 279

48. What is the difference he-

tween total number of mem-
bers in health clubs A and B
together in 2009 and that in

health clubs D and E togeth- -

er in 20137

(1) 83 (2) 87
(3) 97 (4) 93
(5) 91

49. What is the average number

of members in health clubs
A, Cand B in 20122

(1) 167 (2) 169
(3) 177 (4) 171
(6) 173

60. Number of members in health
- club B increased by what per-

cent from 2010 to 20137



| (2) 52
o | (4) 54
L ®s =
BB S

..: :_‘Hr"._ The LCB(I Qf tW{} pﬂ“ﬂb[ % ]S

. ' 48. The respective ratio of |

numbera 18 2 : 3. What is the
~ sum of numbers U

. W e
. ®40 . @es

- 5) Nene of these ;5- '

- eral triangle is 21m more

 tween the side of the trian-

e gle and the side of the square

is 9 : b, what is the area of
e the square'? (111 m“) |
"'5'_”(3) 625 --(;_4)_ 144
e (B) 81 e
. B83. A and B can 1ndependently
~ finish a piece of work in 25
-~ and 20 days. They started
:'_'._"5_-_;;‘._;:f;_{workmg together and after
~ few days A left. After that B
~ could finish the remaining
;_':;work in 11 days. After how
~ many days A left the work?
er 12

(@) 18
315 (4) 5
(B 10 e

54 A and B started a busmesa
- with an mvestment which is

n]aprnﬁt and Bs share 1n an-

- . nual proﬁt‘? |
"-jffjfj_f_{’; Bs. 1860 (2) Rs 1680

| 52 The perimeter of an eqmlat—

- than perimeter of a square. F
5 If the respective ratio be-|

- in the ratw of 5 : 2 respec- |
~ tively. After 6 months from |
~ the start of the business, C |
i_-,]omed with an lnvestmentfi;- :
“'j'i_;:;_'-whlch was twice A’'s invest- |
 ment and after 10 months |
 from the start of the business |
B withdrew all of the amount | 6!
. that he invested. If the total =
é‘ffw 5._'?annual prﬂﬁt was Rs. 6510, it
g?“ | "'-'rwhat was the difference be- i

' tween A’s share in the annu- | 3
. 1 33 (453 26 + 167,65+ 7) x = = 600

L ol

Directions {55-—84)
will come in place of the question
mark (?) in the following ques-

(E) 172. 25

hﬂns?
55 50 + 5.5 x 44 + 7 =820
(1) 180 (2) 175
(3) 2156 (4) 220
(5) 225
o : _
56. (-3*'5""-3‘5) + 7 = 4%
(1) 26 (2) 24
- (3) 34 (4) 36
-~ (B) 16

57 [§-+l§+3 2=
e of 2 = 621

(1) 261 (2) 162
(3) 279 (4) 216
(5) 243
58. 40% of 325 + 86 = 2% of 270
(1) 75 (2) 20
3)2 (470
(5)80
59. (0.15 x 320) + 4 =3 x 2
(1) 2 (2) 8
31 @) 4
(5) 0
60. 40% of 620 + 65% of ? = 482
()220 - (2) 260
(3360 (4) 280
L Gydos
'61 42:-:92 Jg,T — 40 =2
M4 @3
. @
S @R
| '62.;1 J121x5+845-154 = 72
w98
@12 (46
(4)4 *

@615 @ 179 25
(318926 (418226 |

What

64. V2916 4+ V729 = 8t

(1) 10 (2) 12
(3) 14 (4) &
(6) 16

« A circular copper wire of

radius 14 em 1s bent to form a
rectangle. If the breadth and
the length of the rectangle are
in the ratio of 8 : 8 respectively,
what is the length of the
rectangle? (in cm)

(1) 32 (2) 16
(3) 24 (4) 12
(6) None of these

REASONING

67.

68.

. In a straight line of twelve

persons (facing north), J sits
fourth from the right end of
the line. Only two persons
between J and S. M sits sec-
ond to the left of S. O sits to
the immediate left of M. How
many persons sit between O

and J?

(1) Three  (2) Five
(3) Cannot be determined
{4) None (6) Four

In a certain code language
READ is written as ‘# 5 % 6’
and PAID is written as ‘$ %
46’. How i1s RIPE written in

that code language?

(1) #4$5 (2) #6%5

B) $4#5 (4 34#6

(5) Other than those given as
options

In a certain code language,
‘their new pencils’ is coded as
“7131'. Similarly, ‘box of pen-
cils’ is coded as ‘362’ and ‘their
wooden box’ is coded as ‘915,
What will be the code for
‘wooden’ in the given code lan-
i S

(1) _15I
(2) ‘9’ | e
(3) Either ‘5’ or i fGhesenu ol -.
(4) Either ‘1 ﬂr 'B’ o




below

ol Ilﬂt necessanl}r in the same order. |
p A sits aemnd fo the right of H,

Directions (ﬁﬂ-ﬂzm

: 'IJ:LL r&eh.ﬂ%sﬁ ﬂl':' BASIHR ‘i i 1 i‘f‘f""&

NG answer thq Guas
-below ;

tud

lEf‘sb

f
)

sLiONe given

89. IfFH iz FErTied to P otha
| 18 D reiated to R?
)8
' {2) Daugnter—m—law
A8} Son—in-law
A8 Cannot be determined
(5) D&ught&r
‘70. H(}’W 18 T related to B?

{1) Sister (2) Aunt
(3} Mother (4) Niece
(5) Daughter -'
Dirﬁetmnﬂ f’?i-’?ﬁ) Study

the falinwmg information carefully
and answer ﬁhe questwna given

=; " -?f-f-

5 Jm,ght persnnan—A, B C, D E,
_ F G and H — are sitting around a
mrcular table famng the centre but

C 8its th:trd to the right of F

g F 15 nat ﬁn nnmediate neigh-
bour t‘)f A

f{_—}ﬁﬂly ong person sits between
B a.nﬁ G,

18 r_ifj{lmmedxate neighbour

;,::;Eltiu‘-_.:.SECGﬂd to the left of B.

e

D is got an immediate neigh-
bour of G.
'f’"Fbur of the following five are
_glike in a certain way based
_on their positions in the giv-
_en arrangemernt and so form
@ group, Which is the one
-f_.-t.hat does not belung to the
group?
(1) DC
(3} CDH
() HFE

Wlm:h amongst the fﬂilowmg
""::"‘:E'tatements 18 true regarding
s B8 per the given arrange- |
Bent? e
'J ﬁ@ﬂa ﬂf the gwen state-

(2) GAB
. (4) BEG.

& W Ao e s, i ol
e oIt vﬂm__www#%““‘

? {2} E is one of the i mmm@r 1 ’?-11 'i?ﬁmnmurzg thie follonein
W nesgabdurs of B _ £ ﬂh%ﬂ_fgd {ﬁ the right o 3
i . 1.?’ 1. Biis sevond to the !'*Egiﬁ-' ;i :.31-‘ {'j
: otk ] o
E - m”%: of z:. .':_:[ iat A
' (8} Only three persons sit he- 1o - 43 H
.~ tween E and G. | {B) F
43, Who amongst the following | ?5;_ng man}’ PErsons are seq
tepresent the immediate | Eﬂ hetwee.«n D and 4. Ty
neighbours of 7 ; " muntad from the left of Do
P 4 ) A, D A 1) Three  (2) One
| 3} B, D 4D G < {8) Four {4) Two
(6} H, G [ o "'(53._?7‘251‘?&11&

'numbers/symbols follow
- en. You

- sents the group of numbt,ra/symbols based on the given coding 8§
and the conditions and mark that cﬂmbmatwn a8 your answer

Directions (76-80) : In each afthe f&llomng quebtmna a ; roup

‘ed by ﬁ‘vﬁ mmbmamﬁns Gf lester codes iy

B
have to find out which of the cumbmamms correctly re

Pre

em

Number | 5]sTwlolaTalBl*[2]@[& 3]+ 7]c
ter Code | PIEIHIUIWIK] clx BG K1Y VI(Z]|J

meia{:ﬂ _13 tr‘ue 2

Conditions : o
(i) If the frst and the last ele- | e

(i11) If the third element is sym

(iv) If the second last element is

76.

2l 77 1468&3
(1) YADCKZ tZJ YAJCKZ
(3) ZMCKY (4) KAJCKY

ments are odd numbers then |
their codes are to be 1nter~-.;;

o i (5) ZAJCYK
changed. -{f'-'.;.:_"?'S 4#5%99
(if) If an even number is 1mme-' fo {1} PAWHUB (2) WAOHBU

diately followed as well as

1= "’-;;'(3) BAPHUW(4) B
immediately preceded bya (5} WAPHBU

symbol then that even num-':_;i 7 5 4 % 2 $
ber is to be coded as Oy

BAPWUH

bol then the first element ig
to be coded as the code 0f that{

an odd number then the code it
of that odd number is to he |
interchanged with the cod {
of last element. o
(Please Note : Al the ele
ments have to be counte‘z 4
from left to Tight t-:} fulﬁl the' |
conditions.) -

9T@ked g o
© UzexVW @) Gze;;
(5) GZGVXW



irections (31-35) S

nswer the questlons

ju’ren persons — E.F G H

JJJJ

a dlstances between each oth-
-not necessanly in the same

= _______slts thlrd to the right of O.
~ Neither H nor O sits at any of
___e Extreme ends of the lme

Four (2) Two
Three (4) One
o amongst the following
ts exactly in the middle of
he line?
2) F
(4)

-‘ :'Z%_iwh of the following rep-
= :‘t ents peresons seated at
| "’-’-'_._it;wo extreme ends of the

“ t is the POSIt“’“ of F with
espect to E?
¥ ?T':Thll'd to the ]eﬂ;

:---umoﬁgSt the fullowmg'

_H_;}fomng information carefully
given

5'1;113 immediate right ﬂf"f |

lowed by two Coneclusions num-
bered I and II, Study the Conclu-

sions based on the given state-

ment (s) and mark the appropri-

_ate answer :

 Give answer (1) if hﬁth the

Conclusion I and Conclusion IT are

true | _
Give answer (2) if either

: -.Conclusmn I or Conclusion 11 is

true

Give answer (3).' if neither
Conclusion I nor Conclusion II is
true

Give answer (4) if only Con-

clusion 1 is true :

Give answer (5) if only Con-
clusion II is true

86. Statement

"LgV<0=D
Conclusions
D=,

II. L<D

87. Statement
J=C>Y=Kc<X
Conclusions
I X @

1. K<d

88, Statement
R>E>T=I>M
Conclusions
I R>1

II.ExM

89. Statement
O<Pz2I=U<N
Conclusions
I 0<U
IL. P>N

90, Statements
HsAqB:WS B
Conclusmns =)
1. S>H: o
H We H

91. Haw mfany auﬂh p&l af m

irections (86-90) : In each

of the following questions, rela-
tionship between the different el-
ements is shown in the state-

| ments. The statements are fol-
and O — are seated in g |

]_1_1: line faclng north, with

as many letters beftween

then in the word (in both for-
ward and backward direc-

tions) as they have betwecn

them in the English alpha-

betical series? |

(1) Three (2) One

(3) Two (4) None

(6) More than three

92, In a certian code language,

FLUTE is coded as HIWRG
and GIANT is coded as IG-
CLV. In the same code lan-
guage, how will PLOTS be
coded as?

() RIMVU  (2) NUMRQ
(8) QMPUT (4) NNMVQ
(5) RJQRU
93. If all the numbers in
67452893 are arranged in
ascending order from left to
right, the position(s) of how
many number(s) will remain

unchanged?
(1) None (2) One
(38) Two (4) Three

(6) More than three

Directions (94-95) : Study
the following information carefully
and answer the questions given
below :

Five persons — L, M, N, O and
P — have different typing speeds’
M types faster than L, but slower
than P. O types slower than only

_one person, L. does not type at the

slowest speed. The one who types

the third fastest types 73 words per

minute. The one who types the' 7 |
slowest types 29 words per minute. =
- 94, Who among the follﬂwing;
types at the second sloweat;;—;;;
speed? =

ML

m.ute"



e (9 gs

@ 810
545

Ej‘%‘mﬂom (96-100) : The fol.
lowing questions are based on five

three chg:t numbers given below :
7 395 432 823 6567 278
98. The positions of the first and
~ the second digits of each of the

- numbers are interchanged.
- What will be the resultant if

~ first: digit of hlgheat number
.t:hus formed i is divided by the

third digit of the ]GWESt num-
ber thus furmed‘?

W15 @1
P @a (4) 8
. ®es o,

97. If 2 ig 3ubtmcted from the
third digit of every odd num-
“ber and ‘1’ is added to the
aecond d:grt of every even
~ number, in how many num-
_bers will a dlgltappear twice?
(1) Two - (2) Three
~ (4) One

‘_'f:t':l in ascend:ng order
'f‘f::fleﬁ to nght whlch of

"E’i‘rgm left to l'lght Wlth-

"F-l

"e number, how many




